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Ex/Sans/UG/Core/4.2/68/2019

BACHELOR OF ARTS EXAMINATION, 2019
(2nd Year, 4th Semester)

SANSKRIT (Honours)

Course : IX

[ Epigraphy and Arthasastra ]

Full Marks : 30 Time : Two Hours

The figures in the margin indicate full marks.

1. ÑF¦˜F ÒèÎFF: õF]ÞP;FÞF ¼WæFÎFF;FÜFFa PáFÑÜFF ˜F õFÛFFÍFWÜFF:— 1×5=5

(=+) =+PõÛFÎFh ;F]Ñ¶FFÙ¼W P‹õ©FÙ¼W ˜F ÛF»F]ÞFõ¶FÛÚFáFW&FXNPÚFPáFP&F¶F:?

(&F) ÛF»F]ÞFõ¶FÛÚFáFW&FW =+õÜF ;F]Ñ¶FÞF¡FõÜF ÎFFÛF EPõ¶F? ¶FõÜF =+
HÑFFPÍF: ¶F·F ¼_èÜF¶FW?

(;F) ÛF»F]ÞFõ¶FÛÚFáF W&F: =+ÜFF ÚFFðFÜFF =+F k PáFPÑFÛFæFáFÛÙÜF ˜F
EPÚFPáFP&F¶F:?

(fF) ÚFªÚFæF¼WæF: =+õÜF ÛF]ÎFWæFbèFW ¡FF¶F:?

(‘~) iÎF ;FePÎ»FáFX ÎF =]+P©áF:j ... G¶ÜFF¼FY i;FePÎ»FáFj-èFÙ¼õÜF
ÚFªÚFæF¼WæFõÜF æFkèFÑF‡FW E»FXa PÎF àÑÜF¶FFÛFh—

(˜F) Ò»FÛFÚFæF¼WæFõÜF E;Fe¡FFÎF]¡FÜFXÎFFaÛÎFU PáF&ÜFW¶FFÛFh—

(š) ÚFªÚFæF¼WæFõÜF ÑF _òÑFXðF=+ÎF _ÑF¶F WÎFF aÛF P=+ÛF h? õF =+U¼_èFX
ÎF_ÑFP¶FÞFõFU¶Fh—

(¡F) ÚFªÚFæF¼WæFWÎF PæFðµFX: ;FÚFa;F_ùFÎ¶FÞWðF] =W+ðFFk ÛF[̧ FaÜF: ÒP¶FòFPÑF¶FF:?
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2. EÍFXPáFP&F¶FWðF] ÂFY ÒèÎFFY õFÛFFÍFWÜFFY— 5×2=10

(=+) =W+ÎF P=+ÛF»Fa¦˜F ;F]æFFaÜF¶FÎFW =+FY ;F]ß ÒP¶FòFPÑF¶FFY? áFW&FF¼õÛFF¶Fh
¶FõÜF ÒP¶FòF¶F]ÍFaÛFUaÜFÚFFæFPæFðFÜF=k+ P=k+ ¶F»ÜFk £FFPÑF¶FÛFh?

(&F) ÚF[æFÎFWèæFÞÒèFõ¶FWÞFæFõ»FFPÎF=Y+P¶FùFPõF=+¶æFk ;FæFWðF=Y+: ÜF¼]ÑFáFÙÍFk
¶F¶õFÛFFõFWÎF æFƒ¶FæÜFÛFh—

(;F) ÚF[æFÎFWèæFÞÒèFõ¶FFY ùPÞµFF õFù ÚFªÚFæF¼WæFõÜF õFFÛÜFk =+»Fk
ÒP¶FÑFFP¼¶FÛFh?

(fF) ÚFªÚFæF¼WæFWÎF PÎFPÛFa¶FõÜF ¡FáFFèFÜFõÜF ÒFõFF¼õÜF ˜F PæFæFÞµFk
¼WÜFÛFh—

3. ÑF¦˜F ÒèÎFF: õF]ÞP;FÞF ¼WæFÎFF;FÜFFa PáFÑÜFF ˜F õFÛFFÍFWÜFF:— 1×5=5

(=+) P=k+ ÎFFÛF i˜FFYáF=+ÛFaj?

(&F) iPæFÎFÜFj G¶ÜFõÜF =+XN»Fa:?

(;F) =+F ÎFFÛF Ò£FF? õFF =+»FÛF]ÑF¡FFÜF¶FW?

(fF) ÛFFÎFF¶Fh =W+ ÞF¡FFÎFX PæFÎFñF EÚFæFÎFh?

(‘~) ÎF_ÑF: =+»Fk =+FÛFk õFWæFW¶F?

(˜F) E;ÎÜFF;FFÞ¶F: =W+ðFFk =+FÜFb ÎF_ÑF: =+»Fk ÑFèÜFW¶Fh?

(š) ÑFÞPæFðFÜFW E=_+¶ÜFFÎFh =+»Fk ÒèFÛFÜFW¶Fh?

(¡F) áF]ÙÍFæF;FWaðF] =W+ðFFk ;FeùµFÛFh?

(¤F) æFY¼Wù=+æÜF¦¡FÎFõÜF õæFàÑFk P=+ÛFh?

4. EÍFXPáFP&F¶FWðF] ÂFY ÒèÎFFY õFÛFFÍFWÜFFY— 5×2=10

(=+) õæFPæFðFÜFW =_+¶ÜFF=_+¶ÜFFÎFFk ¶F]ñF¶F]ñ¶æFk =+»Fk £FFÜF¶FW? =+»Fk æFF ÞF¡FF
õæFPæFðFÜFW ¶F]ñF¶F]ñFÎFh õFFÍFÜFW¶Fh?
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(&F) ÞF¡FÑF]·FWÚÜF: ÞF£FX Þ‡FFPæFðFÜFW =+FYP©áÜFõÜF ÑF[æFFa˜FFÜFFaµFFk ÛF¶Fk
õFÜFFYPƒ¶F=k+ PæF˜FFÜFa¶FFÛFh—

(;F) P¼æFõFõÜFFñÚFF;FW ÞF£F: =+FPÎF =+¶FaæÜFFPÎF PÎFP¼að©FPÎF?

(fF) =+X ÎFFÛF GPÎ½ÜF¡FÜF:? ÞF£F: =_+¶F W GPÎ½ÜF¡FÜFõÜFXÑFÜFX;F
EFáFX˜ÜF¶FFÛFh—

–––––––––––
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